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CLASS X
SCIENCE (Theory)

DESIGN OF QUESTION PAPER

GROUP - B (Biology — World of Livings & Natural Resources)

Remembering : r s Em_w mem_. 5
Type of Questions (Knowledge) Understanding | Application ,—._:n._c:m Evaluation Total Marks
(R) U) (A) Skills (E)
(HOTS)
Very Short Answer
(VSA) 2 2 - - 1 5(1)
| Marks
Short Answer - |
(SA-1) 1 1 - 2 - 8 (4)
2 Marks
Short Answer - 1
(SA-11) - 2 1 - 1 12 (4)
3 Marks
Long Answer
(L.A)) - - 1 - - 5(1)
5 Marks
Total Marks + 10 08 04 04 30 (10)
Grand Total 12 28 20 10 10 80 (26)
% Weightage 15% 35% 26% 12% 12% 100%
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GROUP - B (Biology- World of Livings & Natural Resources)
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SCIENCE (Theory)

CLASS X
GROUP — A (Physics & Chemistry)
QUESTION ANALYSIS
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Set - 1

B/ET TSl B AFBAT 1) o0 o g3t @ et zi:za:rr:]
Total No. of Questions : Total No. of Pages:

JAAT : 3 He guries : j %0

Time : 3 Hours Full Marks :

ATHTT forder:
General Instructions:
1. e gurie o vl § & SR T

fdg¥ (SCIENCE)

Candidates are required to give their answers in their own words as for as practicable.

S WA H A g0 - AR BE | < g0 B ot weRi @ SR o aifvard &
T4 — A (Hifcet vd ) — 50 3@
I — B (W19 I — wofa 1 vd s wamm) — 30 o

This question paper has two group A and B. It is compulsory to answer all the

questions of both the groups.
Group — A (Physics and Chemistry) — 50 Marks

Group — B (Biology — World of Living and Natural Resources) — 30 Marks
Yl Y & IS I A 3ifebe § |

Marks allotted to each question are printed against it.

w & TR g & W RU T e @ amee o & <)
Answer the questions as per instructions given with questions.
W 6 SR Fe-e-IRyRad @ i 4 R M ysi ® & #ifi, s 78

Do all rough work in the last pages of the Question-cum-Answer booklet and

else.

1 3% Tl JHI B SR TP qG AT 0 aed H S|
2 3 acl YEHl B IR T 40 TR H, 3 3% a0l H D IR T 50
5 3 dqTel Yl & TR T 70 Yeal H < |
Answer in one word or in one sentence the questions of 1mark. Answer in about

the question of 2 marks, answer in about 50 words the question of 3 marks and

about 70 words the question of 5 marks.
el B Al o sawrs 8, 9 wewd @ wy W vy § @i |

Draw neat and clean diagram wherever necessary.

nowhere

Teal # Ud

40 words

ANSWET in




79 A (et @ )
Group — A (Physics & Chemistry)
SET -1

aret A el fbw <uv &1 Sl fn w82 (SR W = @1 v g
¥ gifom)

Which mirror is used in the headlight of vehicles? (Answer in one word or in

one sentence)
ade o gIRT el v @1 &R e yER @1 wfRifRe a9 £° (S e e
71 v a7 )
What type of image of an object is always formed by a concave leng?
(Answer in one word or in one sentence)
G T3 a¥g @ URm T F fhe 9 W e 87 (SR w e a1 o
EIERR I

On which part of the eye does the human eye form the image of an object?
(Answer in one word or in one sentence)

faTR @1 S.1. 7 T 2?7 ([ UF v A W A § Hfg)
What is the S.I unit of potential difference? (Answer in one word or in one

sentence)

fesyrT & o 9ia @& W ffay | (STR TP g A1 Y& arad H i)
Name one source of direct current. (Answer in one word or in one sentence)
Fe + Cu SO, ———» Fe SO, + Cu f%1 WoR @ aififar &7

(STR U& ¥ A1 U arda A )

Fe+ Cu SOy —— 3 Fe SO4 + Cu is which type of reaction?

(Answer in one word or in one sentence)
e ot @ v 3 ey | (@R U e a1 v A & )

Write the chemical formula of Bleaching Powder? (Answer in one word or in

one sentence)

URT &1 & UF T 3RRG &l T faRav | (SR TP e U7 TP qra H )
Write name of main ore of mercury metal. (Answer in one word or in one

sentence)




10.

V. FESIGET FT 8?7 (I VS I A1 % A B D)

What is hydrocarbon? (Answer in one word or in one sentence)

eF 3 fgH B e whfed fear (W @ 9% @1 @ a3 )

Who proposed the law of Octaves? (Answer in one word or in one sentence)

Wmﬁm@ﬂ%ﬁmmwwﬁmmdﬁmwm@z
BIHE U4 Gehcll D & dr Wl o 2 |

Draw a neat ray diagram of an image formed by a concave mirror when the obje

in placed between focus and centre of curvature.

JAETUT HWHAT | AT T T 27 Th IR0 ARG (IR A
ue) # )
What do you mean by a precipitation reaction? (Answer in maximum 4

words)
< ey fF Fed 7 30 R o @ R 59 UeR & o @1 SwanT fb
ST & | (IR 3l 40 v # o)

What is hypermetropia? Which type of lens is used to correct it? (Answer

maximum 40 words)

SHIEHl SffRTES T B &7 TP IaTerv AR |

(TR 3fdrman 40 W=l § <ifom)

What are ampho tric oxides? (Answer in maximum 40 words)

e PR BT AT Il Bl &, FI° (SR A 40 yra] # <o)
Why is the color of clear sky blue? (Answer in maximum 40 words)
el 7 oo aat ARV AR BRA B RIU B W AR QAT o
(IR i 40 Tt § Gf)

What were the criteria used by Mendeleev in creating his periodic table?

(Answer in maximum 40 words)
?cméﬁwaﬁ%mmiﬁiﬁ@ﬁﬂﬁﬁ I?.cmﬁ{ﬁtl??@?
wfcfer @1 Retfa, sefy ik ameR sma iR |

An object of 7cm height is placed at a distance of 12cm from a convex lens ¢

focal length 8cm. Find the position, nature and height of the image.

TS & AN A7 BN & MR TR Y U4 3vedd &) e AR | w
fore v werever o | (S S 40 Wit A Af)

Le]
—
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11

12.

Explain oxidation and reduction in terms of gain or loss of oxygen. Menti¢on

example for each one. (Answer in maximum 40 words)

¥g T & M7 6 Q ARRM @ A sfoRwwdl & b yeR wain s

YISl |ATer &1 AF (1) 18 Q (i) 2Q & |

Show how you would connect three resistors each of resistance 6 Q , so that the

combination has a resistance of (i) 18 Q (ii) 2.

(Answer in maximum 50 words)

PH el fbd ®ed 87 a9l g9 & PH &I WM 6 &1 8 T8l &9 oM W 3@

PH HF A &1 gRad &RT? (ST e 50 sl # <forg)
HAYdr
f=ifa # | UAd | DI |1 37 Xe 87
(a) @el g (b) 3l (c) WeRT (STR AfeHad 50 Weal # W)
What is PH scale? The PH value of fresh milk is 6. What would be the change
PH after its conversion into curd? (Answer in maximum 50 words)

OR

Which acid is present in each of the following?

(a) Sour Milk (b) Tamarind (c) Orange (Answer in maximum 50 words

Y-—XUP TR BT a1 B &7 U D ARV aTel fIegd A bl Y—wufha BT

T YIS 27 (SR ARG 50 weal § )
(sterar)

a3 faga I 9 B AR BN G frell Fearrier § A ¥ @ 8

RICECI MR T G

(i) Bl H el Sl 8?7 (if) Hel B MR W A& WA O € (iii) Bl

& IR XQI 11 8| (SR 3Afdrmaw 50 i § <o)
What is the function of an earth wire? Why is it necessary to earth metal
appliances? (Answer in maximum 50 words)

(Or)
A coil of insulated copper wire is connected to a galvanometer. What wou
happen if a bar magnet is (i) Pushed into the coil? (ii) Withdrawn from t

coil? (iii) Held stationary inside the coil? (Answer in maximum 50 words

in

S’

lic

he

1+2=

I
(%]

1x3=3

1x3=3

1+2=3



14.

15.

16.

17.

T A F7 8?7 SRR B AR GHEEY |
(IR e 50 vl H o)

What is a homologous series? Explain with an example.

(Answer in maximum 50 words)

UTEdshH |a Y B 2?7 WRReT Ry, R, @7 R, 3 UIEHT & GO a9

W AGed TR BT @5 JIa i | (TR fiiead 70 Il § i)
(arerar)

STl AT 87 591 SRR @1 \fm aviE I | (SR afieaw 70 we (3

Qfrg)

What is the parallel combination? Derive an expression for equivalent resistan¢e

after combining Ry, Rz and Rj in parallel. (Answer in maximum 70 words)
(Or)
What is dynamo? Describe its method of working with a diagram.

(Answer in maximum 70 words)

faq g fom # w@w & fadwT o arwa & v w1, (20, [3
[4] Td [5] @1 THIB HIFT |

In the given figure of purification of copper in electric decomposition is shown.

Label against [1], [2], [3], [4] and [5]

4 1)

I_.|, . ,)_]q__m

[3]

JFYdr/ OR
a. BISSIGTIORYT T 87 SaT el it 7 &7
What is hydrogenation? What is its industrial application?

b. QIIE® 3% & 15 1 ITANT fofag | (SR e 70 wreal ¥ )

Give any three uses of ethanoic acid. (Answer in maximum 70 words)

79 B (Sha fagme — welia s sk wepfoe wameF)
Group - B (Biology — World of livings and Natural Resources)

<TERM BEl IR TR 27 (ST TS e A1 B arad § )

Where are villi found? (Answer in one word or in one sentence)

1
-

FHl#3=5



18.

19.

20.

21.

22,

23

i. quﬂaﬂmﬁwﬁ?(wwwmwmﬁﬂm)

What is the principal co-ordination centre of body? (Answer in one word or in

one sentence)
T B el T 1 8° (I UF U AT TS A § )

What is the basic event in reproduction? (Answer in one word or in one

sentence)

far @1 TR Tem 7 2 (SR e ww A U agy § df)

What is the basic incident of evolution? (Answer in one word or in one

sentence)
g H ¥ yBR 1 It Bl 87 (SR UF w1 @ A § i)

What type of energy is found in wind? (Answer in one word or in one

sentence)
A A Y0 & a1 1 27 (e 40 vl TR Sfmw)
What are the functions of testis in human being? (Answer in maximum 40

words)

| Wl fobd @ed €7 (e 40 el § IR )

What is a solar cell? (Answer in maximum 40 words)
I T A 27 (@G 40 el § e )

What is a bio-geo-chemical cycle? (Answer in maximum 40 words)
"G 71 8?7 8 QIR WAV W v waR el 8?7 (e 40 v (o
IR )

What is “khadin’? How is it related to conservation of environment? (Answer in

maximum 40 words)
AITE 996 | HF-Be fhar @ et | (e so vt § R i)
Discuss the urine filtration process in human kidney. (Answer in maximum 30

words)
wfdacd fhar ok el o & o we D ERET 50 Tl § TR
<o)

Mention difference between reflex action and reflex-arc. (Answer in maximum

50 words)

(9]



24,

26.

R T AT oA Al @ AW ok ol fofen | (fean so el H ST
<o)
Write names and functions of male and female sex-hormones. (Answer i

maximum 50 words)
Rfteraral @ Saw BF 9 fedl Wi @ sfaw fdw WeR 96 Wi g
(3rferepam 50 wIeal # SR dIf)
How does the creation of verifications in a species promote survival? (Answer In
maximum 50 words)

Jear/ OR
¥eq @ WAl § DY UG AT b oy SR Tl g 8?7 (e 50
w&l # IR <o)
How do Mendel’s experiments show that traits may be dominant or recessive”

(Answer in maximum 50 words)
ofar A Oror 7 ARE aviE A | (TR e 70 weal H i )

Describe with diagram the nutrition in amoeba.

(Answer in maximum 70 words)

3T/ OR
SRS e ¥ oM T WEEK 87 @ SUfd wel @ dumiy @i | &
ey | (fieem 70 Wl H SR dIf)

What do you mean by acquired characters? Are acquired characters inherited?

Discuss. (Answer in maximum 70 words)




